1.

2

It fobe =
FTHEEINEEE SHCEEMAT—IRSTHETE BERS
(1) mHTEMLE
(Hpr FH)
/e g M IERTO%HE T E48 &t
11 {¥ % 2 4,255,206 105,300 4,360,506
1 1 = B B % 4,255,206 105,300 4,360,506
(2) e PHE AR B E
(HfAr TH)
MioE 8B o M O JFE N iR
/e g H FHIERTORE | # I %A & I e 228 TR T i BH
ERExHe] T OE | 2o R
11 {x Ea #l 4,255,206 105,300 | 4,360,506 — — — | 105,300
1 £ = 8 % % 4,255,206 105,300 | 4,360,506 — — — | 105,300
% B _ _ _ WU
1 Bk B2 #| 1,820,605 84,000 | 1,904,605 84,000 fispres
e M= A
iR == _ _ _
4 I fEH 865,965 21,300 887,265 21,300 Pl e
(3) HhBRBAGFE
(HfAr TH)
W IE | i E %
i g
= X 4 4 HOE A4 4
2 5 14 M E B OB O# | o 68,500 |/&=r o 79,000
11 = E2 211 F 2 B OB B [EZExFIEHIE — 7= = FE H X 5 21,000
SR 5 12,000 |2 & 5 & 38,442




	一般会計補正

